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	Reference
	Comment/ Rationale

	Source of Comment (Name/Agency)
	Suggested Disposition of Comment
	Final Disposition
(Do Not Fill In)

	Page
	Section
	Line
	
	
	
	

	1-1
	1.1.2
	4
	Enabling reuse of software is not an objective of a standard because different organizations have different software.  They cannot all escape changes.  Favoring the practices of one entity is not consensus.   Implementations are not standard and should not be the subject of standardization
	SC14
	Eliminate (b)
	

	1-1
	1.1.2
	9
	This statement is in violation of ISO directives, which require consensus among ISO members.  It will never pass muster during ISO reviews, and it is gratuitous
	SC14
	Eliminate the statement.
	

	1-1
	1.2.2
	last
	“written jointly by….” Should be removed.  ICD’s may involve more than two parties.
	
	Remove
	

	1-2
	1.2.3
	2
	Standards can be tailored downward, applying only some of the provisions.  They cannot be augmented.   
Features not included have not met consensus.
	
	Remove the statement that features not addressed can be incorporated.
	

	1-2
	1.2.4
	4
	The statement “and could be specified in an ICD” is gratuitous.   There are other ways.
	
	Remove
	

	1-1
	1.2.2
	3
	The statement that the CDM is a one way message ignores the fact that response of some kind is at least desirable.   We do not just throw the information over the fence.  In some cases recipients are also originators and can respond with either confirming CDM's or information to resolve discrepancies
	
	Delete the sentence.
	

	1-2
	1.2.5
	2
	Delete the second sentence.  First, accuracy and precision have normative definitions.  It would be pseudonymous to cast another definition.   Second, lacking ground truth, there is no benchmark against which to assess accuracy, although comparison with owner/operator developed trajectories is without argument best.    
	
	Delete.    As a general comment, a standard specifies what is included, not what is not included or out of scope.  The scope is clearly stated at the outset.  By consensus matters not addressed are by definition out of scope.     
	

	1-4
	1.5
	All
	ISO mandated formats must distinguish between normative and informative references.  Normative references must be either normative documents that are incorporated by citation or information that is openly available and essential for implementing the current standard.
	
	Categorize the references.
	

	2-1
	2.2
	Several
	The terminology Object 1 and Object 2 is superfluous, confusing, and redundant.  
	
	Use standard international designators.  This avoids having to send different messages to each conjunction partner with his resource designated Object 1 as
	

	3-1
	3.1.3
	2
	Many users are not "Member Agencies" or do not employ the same computational environments as the Agencies do.
	
	Eliminate mandatory compliance with computing environments of Member agencies.   
	

	3-2
	Table 3-1
	(2,5)
	Spacecraft names should be those commonly used and understood, not whatever the provider feels like calling them.
	
	Add "commonly used" spacecraft names.  This at least imposes some constraint even though what is commonly used could be arguable.  
	

	3-2
	Table 3-2
	5 (TCA)
	There are several versions of UTC (ITU-R 460-X, where X=1-5).  We narrowly escaped there being a totally different -6.  Implementation of UTC must specify the ITU-R version.
	
	Insert  ITU-R-460-5
	

	3-3
	Table 3-2
	(15,1-18,4)
	The x, y, and z sizes of the screening volume are not sufficient for volumes that are not boxes or ellipsoids nor for boxes and ellipsoids that are not aligned with the (unspecified) Cartesian axes
	
	Correct volume shape and sizes to allow general shapes and alignments with respect to some specified reference frame and coordinate system.
	

	3-4
	Table 3-2
	4
	Even though these items are optional, they are still part of a standard.  The statement beginning “
depending” is inappropriate because it makes a standard non-standard.  
	
	Delete statement beginning with “depending.”
	

	3-4
	Table 3-2
	21,2
	The collision probability is the probability of direct physical contact with the object.  Saying that it is the probability that the objects will collide is circular.   It is also not necessary to say that Object 1 will collide with Object 2.  Or is it Object 2 that collides with Object 1?
	
	"…the probability that the objects will experience physical contact.
	

	3-5
	Table 3-3
	2,2
	The terminology Object 1 and Object 2 can confuse recipients.  Each of the pair of recipients thinks he is Object 1 unless additional information is provided.  The satellite name appears within the data set earlier.  Why not use the names throughout?
	
	Use satellite names or other uniformly understood identifiers consistently throughout.  Eliminate references to Object 1 and Object2.  
	

	3-5
	Table 3-3
	1,8-1,11
	The fullness of operator contact information is redundant.  There should be user accessible databases that contain all of this information given only the organization.  This places the burden of acquiring such information on the provider, who would themselves have to query a database.
	
	Eliminate all but Operator identity.  In fact, the satellite identifier implies all of this.  
	

	3-6
	Table 3-3
	Third
	What does additional tracking mean?  Additional to what?  Even if this item is optional, different providers could employ this data element differently
	
	Eliminate additional tracking.  This should be in the ICD's counseled earlier.
	

	3-6
	Table 3-3
	Fourth
	Covariances other than the result of consistent orbit determination are meaningless for collision probability.  Default covariances cannot be propagated rationally.  Defaults cloud the credibility of the assessment.
	
	Eliminate covariance method if all it indicates is whether the covariance is valid or not.  Covariances known at the outset to be invalid should not be included.  
	

	3-6
	Table 3-3
	Fifth
	Even if a satellite is maneuverable, that does not imply that it will or can be maneuvered.   Unknown is a non-data element.  
	
	Remove maneuverable.
	

	3-6
	Table 3-3
	Sixth and beyond
	These elements of information are in accompanying ODM's counseled earlier in the document.  They should be consistent with accompanying or supporting ODM's.  If this information is restated, it is possible that inconsistencies would emerge requiring unnecessary forensics.  
	
	Eliminate
	

	3-7
	Table 3-3
	First row
	In track thrust is not a sufficient specification of applied thrust forces.
	
	Eliminate or make more general with regard to other thrust components and time profiles.
	

	3-7
	Table 3-4
	Row 4
	TIME_LASTOB section is unclear.  The section for NE objects seems disconnected from the rest.   Exact time is probably unobtainable with confidence since synchronization among nodes is not exact.
	
	Clarify with explanations of the less than or greater than time intervals, explanation of what acceptance for OD means, and more concrete explanation of what exact time is.
	

	3-8
	Table 3-4
	Row 2
	Is the OD span "calculated" or inferred from the distribution of observations and assessment of quality of fit? 
	
	This should be clarified..  If it is calculated, what is the process?
	

	3-8
	Table 3-4
	Row 15 -17
	These require definition of what Cd and Cr are as well as how SEDR is determined.
	
	Define
	

	3-8
	Table 3-4
	Final 6 rows
	The reference frame and coordinate system for position and velocity are not defined, neither is the object to which they apply
	
	Define
	

	3-9
	Table 3-4
	All covariance elements beyond 6x6
	State vector elements 7, 8, and 9 are not the acceleration components commonly used.  They refer to states unique to a specific OD scheme.  
	
	Remaining elements of the matrix should have generic identities with the specifics negotiated between provider and recipients who individually require these.
	

	3-10 -3-13
	3.6
	All
	This is an extremely verbose example and an example of what only one provider might generate.  A message four pages long is likely beyond rapid operational assimilation.  Even machine to machine exchange would be burdened with excessive parsing and rejection of most of the data elements.
	
	Include other examples representative of the spectrum of possibilities
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